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title page of the answer-book by the candidate.

® Please check that this question paper contains 30 questions.

® Please write down the serial number of the question before attempting it.
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General Instructions :
(i)  All questions are compulsory.

(i1)  The question paper consists of 30 questions divided into four sections — A, B, C and D.
Section A comprises of ten questions of 1 mark each, Section B comprises of five
questions of 2 marks each, Section C comprises of ten questions of 3 marks each and

Section D comprises of five questions of 6 marks each

(iii) All questions in Section A are to be answered in one word, one sentence or as per the

exact requirement of the question.

(iv) There is no overall choice. However, an internal choice has been provided in one
question of 2 marks each, three questions of 3 marks each and two questions of 6 marks

each. You have to attempt only one of the alternatives in all such questions.

(v)  In question on construction, the drawings should be neat and exactly as per the given

measurement.

(vi)  Use of calculators is not permitted.
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SECTION A
TwUE A

Questions number 1 to 10 carry 1 mark each.

YT G 1T 10 TF F9F YT F 1 HF 8 |

1. Find the class marks of classes 10 - 25 and 35 - 55.

T 10-25 TG 35-55 & I g Fd FT |

2. If tan A = %, find the value of (sin A + cos A) sec A.

I tan A = %, ar (sin A + cos A) sec A & A T FHifeE |

3. The surface area of a sphere is 616 cm?. Find its radius.

% Tl & U 9% 616 AU ® | 39S G I ST |

AAPQ)
4, In Figure 1, PQ || BC and AP : PB=1:2 Find :; EAABgr _
A
P Q
B ¢
Figure 1

30/2/3 2



ST 1%, PQ||BC TN AP:PB=1:2 LLAPD g R

ar (AABC)
‘A
P Q
B C
5 1
5. The lengths of the diagonals of a rhombus are 30 em and 40 cm. Find the side of the

rhombus.

E RS & fawul # eEra g0 ¥ g 40 W T | FHAQLS O F oo
e FHT |

6. Complete the missing entries in the following factor tree :

E =
<

fr= UrrETS gy H ow §EAd 9 &I

2
< 3
7
7. If (x +a) is a factor of 2x° + 2ax + 5x + 10, find a.

A (x + 2), FATH  2x% + 2ax + 5x + 10 F HAEIS 8, @ a H AF G HIWC |

8. Show that x = — 2 is a solution of 3% + 13x + 14 = 0.
SYET & x=—2 AU 3x%+ 13x+14=0 & 8 2 |

9. The first term of an A.P. is p- and its common difference is q. Find its 10" term.

% T9=F 94 & YW U p U THH UH W q 2 | IUF THAl 9§ T HC |

10. A die is thrown once. Find the probability of getting a number greater than 5.

TE U= 1 TF A G T | 5 ¥ € 9@ 9 @ Wfisdr 39 i |
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11.

12.

13.

14.

15.

SECTION B
@us

Questions number 11 to 15 carry 2 marks each.

TV T 11 15 7% TAw I F 2 ¥F E

If sec 4A = cosec (A — 20°), where 4A is an acute angle, find the value of A.
OR

In a A ABC, right-angled at C, if tanA = 4 find the value of

.J‘é"
sin A cos B + cos A sin B.
IfE sec 4A = cosec (A — 20°), @I 4A UFH ZH-H01 g, @ A H G4 Fd HC |
Foar :

T &ABCﬁ, frgH C 9t W %, g tanA:-Jl_é« %, ar sin A cos B + cos A sin B &I
b I i |

Find the value of k if the points (k, 3), (6, —2) and (=3, 4) are collinear.
k & 99 @ e AT Bk 3), 6, —2) T (3, 9 WG € |

E is a point on the side AD produced of a |[™ ABCD and BE intersects CD at F. Show
that A ABE ~ A CFB.

Wwﬁa@cnﬁmﬂfwmmﬁaﬂE@ﬁgéwszcnﬁ
F R Jfaedg &l & | ST fF A ABE ~ A CFB.

Find all the zeros of the polynomial 2x? + 7% - 19x% - 14x + 30, if two of its zeros
are V2 and —/2.

ERA 2x? & 7x® -~ 19%% - 14x + 30 %wwmm, ﬂﬁm&aawﬁ
V2 B

A bég contains tickets, numbered 11, 12, 13, ... , 30. A ticket is taken out from the bag
at random. Find the probability that the number on the drawn ticket (i) is a multiple of
7, (ii) is greater than 15 and a multiple of 5.

w g H fPae W@ F R W g 11, 12,13, .., 30 dfEd § | 99 H ¥ wm feee
e fa@et T | wired g difse & feet w fese m o) 7 W oW g,
()15 § 9 &1 2 W 5 F P B |
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16.

17,

18.

19.

SECTION C
@us |
Questions number 16 to 25 carry 3 marks each.

T G 16 G 25 % AF oA & 3 3% &

In an A.P., the first term is 22, nth term is —11, and sum to first n terms is 66. Find n
and d, the common difference.

TS GURR S 1 9YH U 22, ndl UE 11 G941 Y99 n TS & ATHSA 668 | n a9l d
(Wrd #r=w) 6@ 6T |

For what value of n.are the n' terms of two A.P.’s 63, 65, 67, ... and 3, 10, 17, ...
equal ?

OR

If m times the m™ term of an AP. is equal to n times its nth term, find the (m + n)th
term of the A.P. '

n % f59 9 F AT @ =R 9fgd 63, 65, 67, ... 99T 3, 10, 17, .. & nd UG THH

g ?

HIdT

ofe ol TR 94 F md T H m T T o T H oo T G &, q GAR TG
F (m + n)@ 9 A Hi9C |

Represent the following pair of equations graphically and write the coordinates of points
where the lines intersect y-axis :

X+3y=6

2% — 8y = 12 _ :
e wie g & sor FW fAefia #ife qgr 39 fagel & fdwiw @ #ifse
& W@y @ oufees A R

x+3y=6

2x - 3y =12

Use Euclid’s Division Lemma to show that the square of any positive integer is either of

the form 3m or (3m + 1) for some integer m.

IfeTe foure Sy F1 AW e Sz 5 e warers quiies @ e feed qories
m%WSmW(3m+l)%Wﬁ€rﬂT%|
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20. In Figure 2, ABC is'a quadrant of a circle of radius 14 cm and a semi-circle is drawn
with BC as diameter. Find the area of the shaded region.

Figure 2

AFH 2 ¥, ABC UF o, fqge frear 14 W 2, @ wqafer @ @91 BC # A HEAH
ws afgd @ T @ | S 9T @ &sd T ST |

B

E 2
21. Prove that a parallelogram circumscribing a circle is a rhombus.
OR
In Figure 3, AD L BC. Prove that AB? + CD? = BD? + AC2
C

Figure 3
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fag #iffT & & 39 F 9@ a1 TR IqS U wEEqds @ |

Agar
3mpfad 3 ¥, AD L BCc. fag =fsw f& AB? + cD? = BD? + AC2,
C
D
B
A
ST 3

22. Draw a right triangle in which the sides containing the right angle are 5 cm and 4 cm.

Construct a similar triangle whose sides are 3 times the sides of the above triangle.

39 T B # @ G0 SEE O a9 el qeel i orarsdr 5 9H ad
4T 2 | IWS BN % THEY U o W sART e vEe 9§ W g
F 2R
3 )

23. The mid-points of the sides of a triangle are (3, 4), (4,I 6) and (5, 7). Find the coordinates
of the vertices of the triangle.
T e W gqeel & wer-fagel & R G, 4)(46)3%(57)%!&3?%31‘!@?
¥ frdwis @ ST |

24, Find the ratio in which the line 3x + y — 9 = 0 divides the line-segment joining the
points (1, 3) and (2, 7).
9 U {9 AT T W@ sx +y -9 =0 fagat q, 9 T 2,7 F fAEw A
Y@Es #@ faufed w1l 7o

25. Prove that :
(1 + cot A + tan A) (sin A — cos A) = sin A tan A — cot A cos A.

OR

Without using trigonometric tables, evaluate the following :

9 cos 58° _ 0 cos 38° cosec 52°
sin 32° tan 15° tan 60° tan 75°
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26.

27.

fog wifT % -

(1 +cot A+ tan A) (sin A — cos A) = sin A tan A — cot A cos A,
HYdr

frevfydr aifas=dt & g3 far, = &1 9@ 39 Sifse .

5 crfms 58 _Jf3 cos 38° cosec 52
sin 32° tan 15° tan 60° tan 75°

SECTION D
@ ug ¢

 Questions number 26 to 30 carry 6 marks each.

v G 26 F 30 0% TAF T 6 3HF & |

A straight highway leads to the foot of a tower. A man standing at the top of the tower
observes a car at angle of depression of 30°, which is approaching the foot of the tower
with a uniform speed. Six seconds later, the angle of depression of the car is found to be
60°. Find the time taken by the car to reach the foot of the tower from this point.

TE Her ToEE U HAR % TR 9% S @ | HAR % TR W w9 S @
&R & 30° % HIATA HIUT W 2@dl ¢ S fh HAR & U # N CHEHH °rd d S
@ 2 | 8 UUS YTEN FR H SEAHA 0T 60° B ST 8 | 39 fag ¥ WK & Wk

% Tged H SR fEa ey ot ?

If a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinet points, prove that the other two sides are divided in the same ratio.

Using the above, prove the following :

In Figure 4, AB || DE and BC || EF. Prove that AC || DF.

D_~»
A
0 B E >
C
F~~
Figure 4
OR

30/2/3 8




Prove that the lengths of tangents drawn from an external point to a circle are equal.
Using the above, prove the following :

ABC 1is an isosceles triangle in which AB = AC, circumscribed about a circle, as shown
in Figure 5. Prove that the base is bisected by the point of contact.

A

B P C
Figure 5

afe fedl Brgst &1 ©F 1 & AR I A e & PE-fe fagsl W sfaee
A, TH T @R oA, @ i FiNe fF R e @ el @ @ @ sm §
fosnfsr et & |

3 & A e fag AT
3 4 ¥, AB || DE @1 BC || EF. fag FifSu & Ac || DR

D/
A
O B E >
C
F >~
S 4
A9l
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29,

mﬁﬁqﬁﬁ%mwﬁ@ﬁgﬁm@ﬁﬂﬁwﬁwﬁﬁww
B
39w & T & @ e ST

a5 # ABC UH THfgarg fqe 8, Fwd AB = Ac% IR S U gw % ofoe
T T | fag Fife 5 oemer el fag g wefgea @ @

A

B P C
5 5
If the radii of the circular ends of a conical bucket, which is 16 ¢cm high, are 20 cm and

8 ¢m, find the capacity and total surface area of the bucket. [Use © = %}

ﬁﬁﬁﬁwé@,ﬁﬁﬁéwﬁ%%mﬁﬁﬁﬁw@zoﬁam
8 ¥, A 3W WSl A ARAl qA FoT YEI GG WA FWC | [x= 2 WG]

A peacock is sitting on the top of a pillar, which is 9 m high. From a point 27 m away
from the bottom of the pillar, a snake is coming to its hole at the base of the pillar.
Seeing the snake the peacock pounces on it. If their speeds are equal, at what distance
from the hole is the snake caught ? '

OR

The difference of two numbers is 4. If the difference of their reciprocals is %, find the

two numbers.

o T W F R W wF AR AS € | 27 W F g ¥ TF W9 I e,
W % 0 ¥ fiyd 2, & 3R 3 @I 2 | WY & 2@e AR A 39 W 9 AW | Ife
A feEt A g, @ 39 FINT fE e ¥ e g W oE gser s |

e

aﬁ@raﬁwam?4%l?¢&‘sd%ogwﬂaﬂwm%%,?ﬁﬁﬁ'@]ﬁﬁﬁﬂﬁﬁ@i
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530. Find mean, median and mode of the following data :

Classes Frequency
0-10 6
10—-20 8

20 -30 10

30 — 40 15

40 - 50 5

50 — 60 4
60— 70 2

fre sifsel @1 wrem, wftgs 921 agad 99 HGC

1 ECIG
0-10 6
10-20 8
20 - 30 10
30 -40 15
40 - 50 5
50 — 60 4
60 — 70 2
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